32' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

I
ELEVATION VIEW HSS 6"x6"x3/16" Rail
@ 17'11-1/2"

o o | :
! ' HSS 6"x6"x3/16" Kickback

] o e N @ 90" w/End Cap
e B f T
! i e oy s 7

L e o R S N ) O 0 A Y I =) (= /
9" JI% s S N ; — R E— T —— g :::t;— -------- —4;-—75..-- "B"
é — . —-—_--_:_ ------ |- _l ------ |_—I_ """" o g | - - ERUO ,T:J - 4 - - ' ‘::,:-_—ji" . b ;1 T 2 | }
f - ' ' - 1 ‘| | [Box BEAM TO ANGLE 13" T | B o T0 GROUND @
| . BOLT NOT REQ'D 1 \\—-ﬁ_ END OF TURN BACK
Last Bridge Post || | "'C 3
A% v i i ol o NER AN AL RN AN AN NERES — AL AN SRR
W6x9 Post @ 7'0" w/ Spade §3x5.7 Post @ 7-0" w/Spade . S3x5.7 Post @ 63" w/Spade S3x5.7 Post @ 38"
@ 2-0" Spacing = 6-0" (3ea.) @ 2-0" Spacing = 60" @ 3-0" Spacing = 150 w/Spade
& 3' & s
\4/
HSS 6"x8"x1/4" Tube .
Blockout @ 6"
o ]
ATAT I a T o I I I X X I I I I I
- T ®© ©] ® © / Y

g 5

i
—_—

oo (dsd] | i:: i | ITEM #: 621.725 | SHEET 10F 5
— | [eaueuy e | D R T BEOCE AL TRACTON DO ST
AT = 16", WW 1 & 2 B o= 67, WW L & al g?ll:lEERRevl\:(s)EE hjg]lrg[s)s g NO. | DATE DE;g:Ihli?::O(rMBRIDGE COU;';YEFL:g?]L;i_:_/;— DESCRIPTION BY
‘A" = -2, WW 3 & 4 ‘B’ = 10°, WW 3 & 4 FRACTIONS = % 1/16” [V v

ELDERLEE,INC. E )) GaRTRER] 359&20 5L L

VIEW uDu "Dll ANGLES = £ 1/2°

DIAMETERS = £ 1/32”

&Y 0AKS CORNERS, NEW YORK 14578 APPROVED | -
E-Mail:dlong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC

Tel:316—789—6670 Faz:315—-789-6615 DRAWING NO. F.R.L-CAMBRIDGE-T




PLAN VIEW
=

1/4" X 8" X 24" SPADE
g..
i
i '
I

1
th@ 5/8" HOLES

(2) REQD

]

]

WPS 3022

N
i 14" [/ 211
: |
4"£1/8"
FRONT (ITEM #
PLAN VIEW
e

1/4" X 8" X 24" SPADE

Su
8

oK
—L:;[L

paya—wyoy = |

— o
e — Xt —|

5/8" HOLES
(4) REQD

|

WPS 3022

AN
/211

T
4l

LLi]

FRONT (ITEM #

63"£1/8"

|
[__

i
L1
=

(2]
e

oy

T

CFOR

N\o 13/16* HOLE

GALV)

14" 23/8"

4 /23"

e

—L2

CFOR

14"

2]
o
m

WPS 3022

WPS 3022

[\ 13/16" HOLE

GALV)

23/8"
WPS 3022

1/4° 23/8"

WPS 3022

PLAN VIEW
N
1.
T-{TM" X 8" X 24" SPADE

I

T
4"+1/8"

T
; - I
1 [+
&' i 1 ™\ 13 /16" HOLE
d] 16" | (FOR GALY)
il g 5/8" SLOTS 1
I |
HH 1 . WPS 3022
i |
i i WPS 3022 e i
i1 [\ ]
' | | 14" 1/ 211 |
i 1
| |
I |
M‘ CITEM # 3> —— J— 178" | 238"
WPS 3022

FRONT

GENERAL NOTES:

1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF
THE STANDARD SPECIFICATIONS.

2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).

3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE
ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.

4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL
BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED.

5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER
THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE
CUT" AND WELDED. CURVED RAILING WIIL HAVE AN 18" LENGTH ON EACH END
STRAIGHT TO ACCOMADATE SPLICES. "PIE CUTS ARE LOCATED SO AS TO NOT
CONFLICT WITH POST FASTENING HOLES. PIE CUTS WILL BE WELDED ACCORDING TO

PROCEDURE WPS-3026.

PLAN VIEW

=i

1/4" X 8" X 24" SPADE

\0 5/8"

(6 REQ'D)

o s e S
=

4 N2 13 /16" HOLE
(FOR GALY)

/-WS X9 1 BEAM

PLAN VIEW
e

1/4” X 8" X 32" SPADE

\—0 5/8" HOLES
{4} REQ'D

84"t
WPS 3022

15"£1/8"

CITEM # 55

Ly

)

\Q 13/16" HOLE

(FOR GALV}

14" 23/8"
WPS 3022

1/8"

i
oe
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
i

|
|
|
|
|
% G4 l[>2-1o
|
|
|
|
|
|
|

/2 3m"

WPS 3022

SIDE

HARDWARE NOTES

WPS 3022
14" 2
\
WPS 3022
N
114" 1/ 210
/1
B WPS 3022
1/4" 2
T CITEM #
FRONT SIDE
ITEM #

BILL OF MATERIALS (EACH CORNERD

FUNCTION

19 |BOLT RAIL TO SHELF ANGLE CITEM #10)

20 |BOLTY SHELF ANGLE CITEM #'S 10 & 1) TO POST

21 |BOLT BLOCK-OUTS CITEM #'S 13 & 14) TO HEAVY POST

22 [<4> PER SPLICE BAR CITEM #9)

23 |<4> PER SPLICE TUBING CITEM #'S 7 & 8)

24 |BOLT RAIL CITEMS #'S 6,17, & 18 TO BLOCK-OUTS CITEM #'S 13 & 14) [WHERE FASTENED]

25 [BOLT DOUBLE BEND SPLICE TUBE CITEM #12) TO RAIL CITEM #18) & KICKBACK CITEM #13)

ITEM #: 621.725

| SHEET 2 0F 5

ITEM #] QTY. [COMPONENT # DESCRIPTION MATERIAL (ASTM)
1 3 0013.57021 |3° I-POST, PUNCH 8" W/SPD @ 63 LG ASTM AS72 Gr. 50
2 3 0013.57025 |3° 1-POST, PUNCH 87, & 20° W/SPD € 63’ LG ASTM AS72 Gr. 50
3 2 0013.57060 |3° I-END PUST W/SPD @ 3-8’ LG ASTM AS72 Gr. S0
4 4 0013.09001 |W6XS POST € 7’ W/SPD & 5/8" HOLES ASTM AS72 Gr. S0
S 4 0013.57010 |3° [-POST, PUNCH 8" & 207, W/8X32° SPADE €7’ ASTM AS572 Gr. 50
6 1 0033.80403 |3X5° BTM TRANS RAIL W/5'-0° KB, EXP END AS00 Gr. B
7 1 0033.00640 |HSS SX5 TUBE SPLICE @27° LG W/ 174’ SHIMS AS00 Gr. B / AS572 Gr S50
8 2 0033.00730 |HSS 5x9 EXP TUBE SPLICE @ 36° LG W/ 1/4” SHIMS AS00. Gr. B /7 A572 Gr S0
9 1 0033.00930 |BR EXP BAR SPLICE 2-1/8" X 4-1/4" @ 36’ LG ASTM A36
10 19 0054.00050 |REG BB SHELF ANGLES @ 4-1/2°7 ASTM A36
12 1 0054.00074 |HSS 5X5 DBL BEND TUBE SPL € 27° LG, AS00 Gr. B / AS572 Gr 50
i3 8 0054.00563 |6X8° TRANS., TUBE B/0 @ 6’ LG AS00 Gr. B
14 3 0054.00565 |6X8° TRANS. TUBE B/0 @ 3’ LG AS00 Gr. B
15 1 0054.09000 |6X6° BB @ 9-0° KICKBACK, W/ CAP, & 13° MITER AS00 Gr. B / A36
%16 | 0.5 | 0054.18000 |6X6’ BB @ 17’-11 1/2”, DRILL 3" CC AS00 Gr. B
17 1 0054,90092 |6X6° BB TOP TRANS @ 20'-9 5/8" LG W/EXP END AS00 Gr. B
8 1 0054.90093 |6X6° BB BTM TRANS @ 21'-4 5/8° LG W/EXP END AS00 Gr. B
19 18 | 0080.03355 |3/8° X 7 1/2" BOLT, NUT, & 2 FW A307, AS63, F436
20 19 0080.04100 |1/2° x 1-1/2° BOLT, NUT, & FW A307, AS63, F436
21 22 | 008004120 172" x 1-1/27 BOLT, NUT, 2 FW & LW A307, AS63, F436
22 4 0080.06255 |3/4" X 4-1/2" BOLT, NUT, @ FW A325, AS63, F436
23 12| 0080.06340 |3/4° X 7-1/72’ BOLT, NUT, 2 FW A325, AS63, F436
24 6 0080.06370 |374° X 8" CARR BOLT, NUT, FW & LW A307, AS63, F436
25 2 0080.06400 |3/4° X 8° BOLT, NUT, 2 FW, & LW A325, AS63, F436

* — WW #4 - SPECIAL LENGTH W/ 16’ RADIUS IN PAY ITEM 621.30

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

TOLERANCE UNLESS
OTHERWISE NOTED:

FRACTIONS = + 1/16”
ANGLES = % 1/2°
DIAMETERS = + 1/32”

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

TOWN HIGHWAY 46 (IRISH SETTLEMENT ROAD), BRIDGE # 28
TOWN OF CAMBRIDGE, COUNTY OF LAMOILLE, VT.
DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY
E
Vv

DRAWN E.P. 12/3/14

' ‘ ZCERIED
ELDERLEE INC. L FABRICATOR|

OAKS CORNERS, NEW YORK 14518

E—Mau dlong@elderlee.com / epeck@elderlee.com
Tel:315—-789-6670 Fax:315-789-6615

CHECKED D.L 12/3/14
APPROVED | . .
SCALE SCHEMATIC

DRAWING NO. F.R.L-CAMBRIDGE-T




. 8 1°x7* HOR. SLOT
2 TOP+BOTTOM
1 DRAIN HOLE A i Peates
(WPS~-3007) (TOP & BDTTDM) == ) d WPS#3016 4-REQ. (2w/SLOT) /\5”
(1>B-U1VB ' ' N "7
10%" 45 s ae 1X7Tnlﬂ§§u%g:17
1| 1* X4msLgr o o\ e _ L ) 11 ; 4
| 2 - (TOP & BOTTOM | - 218 F
e e . == ¥ T
___________ L T a3k N |
f ! 4'-4" . 6 { Q} N—# 5/8" (2X) 1"_
" _aé’ 34" X 5" X 3/8" ANGLE ‘_5 3/4"
43
CITEM # 6> FRONT VIEW PLAN VIEW
T0P VIEW E—
CITEM # 10O
3-10" e | |
1-10" TACK WELD O HSS 57xS"xS/16"~|
o 1/4* END CAS\J_
-{—E- —:IE-—.;:—:ZE—:—&:—IEZEE—;.:EE—EE;-_{—IEZ%}_TI—EZEZEZEZ—:_EZEHI— CITEM # 12 '
1%“—T \ > ‘A’ - 26°
® 1 HOLES FRONT VIEW "B - TURN DOWN ANGLE SET BY THE 9“ MEASURMENT
(FRONT & BACK) AT THE END OF THE BOX BEAM,
BACK VIEW ———6“7 el
* - ] | ] ] —3"—
o A . . il 3 )
! J _I 4 | 3n . 8
i i i y r4 —8"—
ANGLE “B“, PER DOUBLE BEND SPLICE 7 4 ” T T T T
¢AS DETERMINED BY GROUND SLOPE DROP) 6 X 6 X 3/16 WELDE 6|" | I Q} I _q_ | Il,
END CAP, W/CUT CORNERS Lol | 4 ‘“f_|""3.. _
4_"
4 _| | 4 | o1
‘ I 1 {R ! I I ' ' 9_/: o1
@ 5/8" 1. A T
TOP VIEW 1Z " BACK VIEW 4 - 1,
(POST SIDE> (2X) CITEM # 14 RALL SITE> 1§ -
9‘ \1
|_3 —_ 1||
. . [ 12 3" (2X)
3 | | ’
| | o sl
. —l ______________________________ B 3" 3J_ Il |\'®1 " 24"
6 — ——— —\ / _/T _r CLTEn 13 *TST S10E>
FRONT VIEW
” " (RAIL SIDED
\@ 7/8 T~y 1o Ll
(TOP & BOTTUMD (TOP & BOTTOMY
ITEM #: 621.725 | SHEET 3 0F 5
—+—MITER @ 13° ¢ 5/8” HANGIN
STRUCTURAL STEEL TO
HUOLE FOR GALV COMPLY W/ ASTM A6 GUARDTO}EVAN]MQVAQQI(Q% s@'ﬂLLEMZEARMSAéTIQFLQﬂA[LS SHEET
TOWN OF CAMBRIDGE, COUNTY OF LAMOILLE, VT.
CITEM # 12 (TOP & BOTTOM) TOLERANCE UNLESS R[NO. | DATE| DESCRIPTION BY| R [NO.| DATE | DESCRIPTION
OTHERWISE NOTED: £ E
FF\I%?.ESONS : ;l:/Z1 /16" ’ \5 CERTIFIED DRAWN E.P 12/3/14
A = ’ @Ei»% CHECKED | D.L | 12/3/14
DIAMETERS = £ 1/32” J oaxs %{ﬁ’e]ggzg%%f’gglg 14578 — APPROVED -DL :
E—-Mail: dlong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:31656—789-6670 Fgx:315—789-6615 DRAWING NO. F.R.L.-CAMBRIDGE-T




ITEM 16 “
7/8" HOLES l7e” HULES ®7/8" HOLES
17+ Jcrop & BoTTOMY WP (TOP & BOTTOM) H886x6x3/16"\ TOP & BOTTOMS\[ o —

=4[ 5 REQ'D &l

—l-«g— ---------- $—— - —_—— J ——————————————— — e —— — — —%- l———

— 21—

8-113" ————=

11! 113"
4
17| 11 Iu

THIS LENGTH, PAY ITEM 621.30 !

| THIS LENGTH, PAY ITEM 621.725

" . i - — et
| | I _ I 1 - — 1 —_— 1 | |
T T 1 1 I T 1 T
®7/8* HOLE
19 x4 SLOT TaP VIEW 172”7 HOLES TOP+BOTTOM
TOP+BOTTOM TOP+BOTTOM (TYP.) 2 REQ'D )
dr— = 6 REQ'D [
- ~ —1— + 4 % = ¥
8"
5-10"
7-10"
9-10"
11-10"
14'-10"
17-10" 5
20-68"
1 HOLES — o) -
. FRONT+BACK (TYP.) SIDE VIEW 1
2 REQ'D I S
4
A
1-10"
3-10" CITEM & 17D
19 x4* SLOT 172" HOLES RILL #7/8° H
[~ 108 TOP+BOTTOM (TYP) DRILL 8" HOLE MITER CUT FOR
& “ / TOP+BOTTOM TOP VIEW 4 REQ,D\ TOP+BOTTON "\ \/9,_0, KICKBACKS
e 12-1/2°
o s i % + —+ 1 % | Y
] T
5-10"
7-10"
9-10"
11-10"
14-10"
7107 - ITEM #: 621.725 | SHEET 4 oF 5
2142 |
o STRUCTURAL STEEL 10 CURD RATL T0 BRIDGE RALL TRANSITION DETALLS SFRET
FRONT+BACK (TYP.) SIDE VIE\A/ TOWN HIGHWAY 46 (IRISH SETTLEMENT ROAD), BRIDGE # 28
l_su 5 REQ'D ' TOWN OF CAMBRIDGE, COUNTY OF LAMOILLE, VT.
' 1 TOLERANCE UNLESS R|NO. DATE DESCRIPTION BY R NO.| DATE DESCRIPTION BY]
T[r J I OTHERWISE NOTED: E
FRACTIONS = £ 1/16" |V e S
“10" = o @‘% EP.
1410 ANGLES = i: :11:/2 ” > ELDERLEE INC. x FCAI%RREI/Q%I% CHECKED | D.L. 12/3/14
810" CITEM & 18 DIAMETERS = 1/32 &Y/ O0AKS CORNERS, NEW YORK 14518 APPROVED | :
E—Mail: dlong@elderiee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315-789—-6670 Fax:315-789-6615 DRAWING NO. F.R.L.-CAMBRIDGE-T




D HOLES IN

TOP & BOTTOM OF HSS

* DRILL SLOTTED HOLES

GALVANIZING

Heavy Hex Nut on each Bolt. Nut to be Finger

at Each Splice.

SPLICE BAR - EXPANSION yrbe
«°i2
HSS 5'x5"x5/16" @ 36" —2 Set @ 4" @6EF
3 Sel @ 4" @ 66°F Galvanized Tube " "—‘O%_I o fop—ef  [—ofs 1x4" SLOTS, TOP
274 o} 1ol 1"x4" SLOTS, TOP i A e I N S e | & BOTTOM OF TUBE
2ude 1. 2, & BOTTOM OF TUBE l l
— i Typ. (b o2 2] 121 N ° ¥
2 —— - e bk > ] e -
S S S o G g gl -
T E 3 N L 1 J Ty — 8
Io Typ, = o b Il i i i | 14" /210 Typ.
¢ = PLAN EXPANSION SPLICE ASSY I"'x4" SLOTTE
2%"’ - PLAN arig" i ] I 1"x4" SLOTTED HOLES IN 4"x1/4"x38" Fill Plate ’ , "
TYP. e TOP & BOTTOM OF HSS (Front & Back) 6x6x3/16" (TYP)
) vy e 5x3x1/4" (TYP)*
414" X 2 1/8"X 3 . e
Galvanized Bar | | | | K | | *DRILL SLOTTED HOLES % - PRIOR TO
N — ] - __ PRIORTO GALVANIZING , . . .
" D eevanow T ) i
E (4) 3/4" Fully Threaded Bolts. 4 1/2" Long _
XPANSION BAR SPLICE ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy W
EXPANSION SPLICE ASSY. Hox Mut on each Dol T o be Finder Tight i ELEVATION ELEVATION (4) 3/4" Fully Threaded Bolts.7 1/2" Long
and the First Thread below the nut to be NN =AY
damaged A.O.B.E.. 4 Bolts at Each Splice. 4"x1/4" 20" Fill Plate EXPANSION SPLICE TUBE EXPANSION SPLICE ASSY. A, Har )2 ashors ahd a
(Bottom) Tight and the First Thread below the nut to be
CITEM # 9 SPLICE TUBE - EXPANSION CITEM & ® damaged A.O.B.E.. 4 Bolts
V4
/8" HOLES ITEM 16 1/2” HOLES
~— 105 (TOP & BOTTOM #4) (TOP & BOTTOMD HSS 6x6x3/16"
—{ad 5 REQ'D

HSS 5" X 5" X 5/16" @ 2' 3"
Galvanized Tube

' gn
2'114

v §||
5"114

81_1 1:_3_u ]

I THIS LENGTH, PAY ITEM 621.725

| BALANCE OF LENGTH, PAY ITEM 621.30 (INCLUDES 16' RADIUS)
i 1,

t= t= ¥ 1 - !
| L. 1 ! ) )
T T T I I I
2'-3" __‘ ___%
2.0 el
u_eln
)
S T —
23“ 4
4 —_
¥ Tyv-—~_|j___‘_l ______ __ |l R | S
! SX & ! PLAN
_________________ FIXED TUBE SPLICE ASSY.

Centerline of & 7/8"
in Top & Bottom of
HSS 6"x6"x3/16" Tube (Typ.)

ITEM #: 621.725

au|

| SHEET 5 0F 5

4" X 1/4" X 26" Fill Plate
(Front & Back)

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

e e e e ]

E

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

TOWN HIGHWAY 46 (IRISH SETTLEMENT ROAD), BRIDGE # 28
TOWN OF CAMBRIDGE, COUNTY OF LAMOILLE, VT.

I | ]
! ! 1 ! ELEVATION (4) 3/4" Fully Threaded Bolts. 7 /2" Long TOLERANCE UNLESS R{NO. | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY|
WPS 3009 _— (ASTM A325, TYPE 1) 2 Washers and a OTHERWISE NOTED: E €
FIXED TUBE SPLICE ASSY.  Heavy Hex Nut on each Bolt. Nut to be Finger ) » |v v
Typ, Tight and the First Thread below the nut to be FRACTIONS = i/ 1 /1 6 y \‘5 DRAWN 5 T
damaged A.O.B.E.. 4 Bolts at Each Splice. ANGLES = + 1/2° i 3§CERT[F|ED ]
4" x 1/4" x 26" Fill Plate FABRICATOR|| CHECKED | D.L. 12/3/14
s ELEVATION CITEM # 7> DIAMETERS = # 1/32” |\PRd) ELDERLEE,INC. @ Y : D
FIXED SPLICE TUBE SPLICE TUBE - FIXED Y/ OAKS CORNERS, NEW YORK 14518 : :
E—Mail: dlong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315-789-6670 Faz:315—789-6615 DRAWING NO. F.R.L-CAMBRIDGE-T




